
Topic:-

Sweetest love, I do not go by John Donne

1. How many stanzas are there in “Sweetest love, I do not go by John Donne"?
A. 6
B. 5
C. 4
D. 3

ANSWER: B

2. The poet has no hope of fitter love from:
A. His beloved
B. Society
C. Country
D. World

ANSWER: D

3. The poet has to die a feign'd death because:
A. He has to die one day
B. He has to go
C. The lovers must depart
D. None of these

ANSWER: A

4. In the 2nd stanza, the poet uses a metaphor about:
A. Night
B. Wings
C. Sun
D. Journey

ANSWER: C

5. The poet says that he will make speedier journey because:
A. He has to come back earlier
B. He is faster than the Sun
C. He has more spurs and wings
D. He is going on a cab

ANSWER: C

6. According to the poet, the sun does not have:
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